Grade 10 Mid Year Examination - 2015 Science 1/2

Answer paper - Part I
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11 ezOes

01 A (1) schleiden,schwann andradolf Virchow (03 m.)

(2) The structural and functional unit of life is the cell / All organisms are made up of one or
more cells/ New cells are formed from pre - existing cells. (for 02 ofthe above) (01 m.)

(3) forthe correctstepsinorder /Ifnotinorder. (01 m.)
(4) mitosis, meosis (01 m.)
(5) for2correctdifferences (01 m.)

B (1) Carbohydrate, Lipid (02m.) (2) Aminoacids (01 m.)
(3) Nucleicacids (01 m.) (4) Biurettetest (01 m.)

02 A (1) Electrons,Protons, Neutrons. (03 m.)

(2) forthe correctdefinition (01m.) (3) “.C (02m.)

B (1) 2,8,8,2 (0lm.) (2) 1(0Im.) (3)ED,(01m.) 4) ‘D D
(5) ED,-lonic D,-Covalent (01m.) o

«01m.)

e

03 A (1) Acceleration piference of velocity _ 8-0ms" _ rms
time taken 48 e
Ifanswer is taken by using graph give marks. (02m.)
(2) Acceleration 0-8ms' 7Y
25

for the answer obtained by using graph (01 m.)
(3) uniformvelocity (01 m.)

(4) Areaofgraph= 4410 (0I'm.)

X 8 =56 =56m

B (1) forthecorrectconclusion (01m.)(2) forthecorrectexplanation (01 m.)
(3) F=ma=400Kgx4ms™”=1600N (02m.)
(4) Momentum=Mass x Velocity
= 1000Kgx 12ms™ = 12000Kgms™ (01 m.)
(5) (a) perpendicularreaction, force (1/2x2) (01 m.)
(b) Areaofcontactsurfrace (01m.)
04 (1) Forthecorrectdefinition (01 m.)

(2) relativeatomic massof Ca= = 40 (03m.)

6.69 x 10
=x1.99x10™
(3) CO,=12+2x16=44 (0lm.)

(4) (a) 40+12+3x16=100 (01 m.)

(b) CaCO,100g=1mol

No. molesin50 gof CaCO, = 1 x 50 = 0.5mol (02m.)

04 (5) (a) Noofmoles = =0.3gw! (02m.)
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90g
(b) No.ofmolecules E0 gmgd’ ofmoles x Avagardro constant
0.5x6.022x10™
3.011x10% (02m.)

05 A (1) A (01m.)

(2) A- 20N, towards East direction B - 5N to wards East direction C - 20N towards East
direction (Nomarksitnodirection) (03 m.)

(3) Inacompetionofpullingarope (01 m.) 10N
(4) (a) Twoinclinedforces (01m.) (b)

(01 m.)

10N
B (1) magnitude of force, Perpendicular distance form the ax of rotation to the force. (02m.)

(2) Moment=force x perpendicular distance to the force form the axis of rotation (01 m.)
3) A=1000x4 (01m.)

\é— =xx2

Whptherodisinequilibrium A = B
1000x4  F xx2 Y
x  =1000x4
2
x = 2000N (01m.)

06 A (1) Archaca Bacteria Eukariya (03m.)
(2) Eukariya (01m.)
(3) (a) Fish (01 m.) (b) Havingavertebrate column (01 m.)
(¢c) C (0Im.) (d) for2common characteristics of phylum Arthropoda (02 m.)
B (1) for4common characteristics (02m.) (2) Homosapeins (01 m.)
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